1km? = 100 ha = 10000a = 1000000 m?
2.8km? = 280 ha
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-5000g = Dkg
-4t =Qkg
-900kg = @t
lAt=®Bg
<012t = @kg

@5 @ 4000 ® 0.9
@ 1400000 @12

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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@ 4.9a=490ha
@0.54 ha = 5400 m?

@ 25km? = 2500 a
® 6800000 m? = 680 a

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha

B

T e 92 1A A vlus) FYrh
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




Tz ofmtEC = 297 4071 et 22 & A FA=
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150 kg @Utt. gtxY| otutEo] gl S8 4071 2] FAI= 2 t Q1%]
TIHA L.

» E _t

> &g 6.t

S8 40719 FA 1 150 x 40 = 6000(kg) = 6( t)
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400cm — 4m
6 x 4 = 24(m?)
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92 Wiro] Yol 2 78 ohe Hut
(24 x 21 +2) 4 (5% 10 + 2) + (12 x 10)
= 252 + 25 + 120 = 397(m?)




2oyl 3.2ha 9] =0l A & 5.6t & AT, WIFHlE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
2 kg ¢ §5U7?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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_230m-

~H19 0m

n
=

4744 =09 o))
93200 — (230 + 350) x 280 + 2
1

—

3200 — 81200
2000( m?)
B ca9] Zo])= 12000 x 2 + 120 = 200( m)

2ol
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